## Award Worksheet

Run Date: 11/8/17 5:02 pm

Purchasing Entity:Shelby County SchoolsBid ID:2423Description:Bid for Central Nutrition CenterCategory:2017-18 Canned and Pouched Fruit & Vegetables -VLEffective Start Date:01/01/2018Effective End Date:06/30/2018

Awarded: Bids Due By: Bids Sealed Until:

11/08/2017 11:00 AM 11/08/2017 11:00 AM

Vendor Summary Information										
Vendor Name	Response Terms	Response Payment Terms	Response Dollar Summary							
Atlantic Beverage Company		•	1,035,077.4400							
Churchfield Trading Company		1/2% 10 net 30	974,234.6800							
ConAgra Foods, Inc.	2500# minimum order per temp class.	Net 30 Days	346,996.1600							
Del Monte Foods, Inc.		2% 15/N16 - Based on NET invoiced sales & date of invoice	954,656.0800							
M. J. Kellner Co., Inc.		Net 30	57,413.2160							
Nu-Health California, Ilc		30 Day Term	574,855.6800							
Robbins Sales Company			1,065,859.2000							
Sysco Memphis, LLC.	10-14days	14days	1,100,710.1600							
Wm R Hill & Co Inc			274,956.6400							

Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
No lotted items found fo 1	or the selected criteria. Item #: 1004 Beans, Pinto, Canned Manufacturer & Part Number:	1 - 6.0000 Each Case Hanover Foods	Wm R Hill & Co Inc	14.3800	3,808	54,759.04			
	Quoted as Spec'd: Yes		Product Number: 9						
	Item Notes: Total of 3,808 cases	3							
	Response Item Payment Terms	: net 30 days							
	Item #: 1004 Beans, Pinto, Canned Manufacturer & Part Number:	1 - 6.0000 Each Case Burnette	M. J. Kellner Co., Inc.	15.0770	3,808	57,413.22			
	Quoted as Spec'd: Yes		Product Number: 42369-25M						
	Response Item Notes: For shipr	ments of 952 cs. price is \$1	3.977 Nutritional & Julian Date or	cans					
	Item #: 1004 Beans, Pinto, Canned <b>Manufacturer &amp; Part Number:</b>	1 - 6.0000 Each Case Mothers Maid/Deshler	Robbins Sales Company	15.4400	3,808	58,795.52			
	Quoted as Spec'd: Yes		Product Number: 42369-25111						
	Response Item Payment Terms	: Net 30							
	Item #: 1004 Beans, Pinto, Canned <b>Manufacturer &amp; Part Number:</b>	1 - 6.0000 Each Case Hanover	Atlantic Beverage Company	15.6800	3,808	59,709.44			
	Quoted as Spec'd: Yes		Product Number: 15702						
	Item #: 1004 Beans, Pinto, Canned Manufacturer & Part Number:	1 - 6.0000 Each Case GRETA CHOICE	Churchfield Trading Company	18.5700	3,808	70,714.56			
	Quoted as Spec'd: Yes		Product Number: PBGC610						
	Response Item Payment Terms	: 1/2% 10 NET 30							
	Item #: 1004 Beans, Pinto, Canned <b>Manufacturer &amp; Part Number:</b>	1 - 6.0000 Each Case Bush - 01819	Sysco Memphis, LLC.	19.7100	3,808	75,055.68			
	Quoted as Spec'd: Yes		Product Number: 0079584						

Line Number	Lot Code	Item Description Response Item Payment Te	Purchase Unit rms: Net 14days	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
		Response Item Notes: 10-14	4 days approved by Kim Stew	art- letter attached						
		Item #: 1004 Beans, Pinto, Canned <b>Manufacturer &amp; Part Numbe</b>	1 - 6.0000 Each Case	Churchfield Trading Company	21.9200	3,808	83,471.36			
		Quoted as Spec'd: Yes		Product Number: 5PBBBB						
		Response Item Payment Te	rms: 1/2% 10 net 30							
		Item #: 1004 Beans, Pinto, Canned Manufacturer & Part Numbe	1 - 6.0000 Each Case	ConAgra Foods, Inc. 900-00116	25.0500	3,808	95,390.40			
		Quoted as Spec'd: Yes		Product Number: 46900-00116						
		Response Item Payment Te	rms: Net 30 day.							
		Response Item Notes: 2500	# minimum combined order pe	er temp class.						
2		Item #: 1152 Fruit Cocktail, Canned Manufacturer & Part Numbe	1 - 6.0000 Each Case	Atlantic Beverage Company	22.0400	4,760	104,910.40			
		Quoted as Spec'd: Yes		Product Number: 703041						
		Item Notes: Total of 4760 ca	ises							
		Item #: 1152 Fruit Cocktail, Canned	1 - 6.0000 Each Case	Robbins Sales Company	29.4800	4,760	140,324.80			
		Manufacturer & Part Numbe	2							
		Quoted as Spec'd: Yes		Product Number: 19211-53305						
		Response Item Payment Te Response Item Notes: Net 3	-							
			Days Product of USA							
		Item #: 1152 Fruit Cocktail, Canned Manufacturer & Part Numbe	1 - 6.0000 Each Case	Del Monte Foods, Inc. c 2001651	34.9900	4,760	166,552.40			
		Quoted as Spec'd: Yes		Product Number: 2001651						

N

Line Lot Number Code 3	Item Description Item #: 1160 Mandarin Oranges, Whole Sections, Canned Manufacturer & Part Number:	Purchase Unit 1 - 6.0000 Each Case sunfield	Vendor Atlantic Beverage Company	<b>Bid Price</b> 19.1800	Response Quantity 4,760	<b>Total Price</b> 91,296.80	Pending Award Quantity	Pending Award Total	Pending Award		
	Quoted as Spec'd: Yes   Item Notes: Total of 4760 cases		Product Number: 703046								
	Item #: 1160 Mandarin Oranges, Whole Sections, Canned	1 - 6.0000 Each Case	Robbins Sales Company	22.4800	4,760	107,004.80					
	Manufacturer & Part Number:	Port Royal Premium									
	Quoted as Spec'd: Yes		Product Number: 19211-55020								
	Response Item Payment Terms	-									
	Response Item Notes: Net 30 Days Product of China, Not packed in USA										
	Item #: 1160 Mandarin Oranges, Whole Sections, Canned <b>Manufacturer &amp; Part Number:</b>	1 - 6.0000 Each Case Nu-Health California,	Nu-Health California, Ilc	27.8400	4,760	132,518.40					
	Quoted as Spec'd: Yes		Product Number: NH4596MO								
	Response Item Payment Terms: 30 Day Term Response Item Notes: Please note that the cost is as follows: \$0.29 a unit \$27.84 a case										
	Item #: 1160 Mandarin Oranges, Whole Sections, Canned <b>Manufacturer &amp; Part Number:</b>	1 - 6.0000 Each Case Dole - 04222	Sysco Memphis, LLC.	36.8200	4,760	175,263.20					
	Quoted as Spec'd: Yes		Product Number: 4212595								
	Response Item Payment Terms	: 14days									
	Response Item Notes: 10-14day	/S									
4	Item #: 1165 Peaches, Slices, Canned Manufacturer & Part Number:	1 - 6.0000 Each Case sunfield	Atlantic Beverage Company	21.4800	4,760	102,244.80					
	Quoted as Spec'd: Yes		Product Number: 703102								
	Item Notes: Total of 4760 cases										

Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Pendin Award Award Quantity Total	
	Item #: 1165	1 - 6.0000 Each Case	Robbins Sales Company	27.8800	4,760	132,708.80		
	Peaches, Slices, Canned Manufacturer & Part Number:	Port Royal Premium -	19211-28045					
	Quoted as Spec'd: Yes		Product Number: 19211-28045					
	Response Item Payment Terms	: Net 30 Days						
	Response Item Notes: Product of	of USA Net 30 Days						
	Item #: 1165 Peaches, Slices, Canned Manufacturer & Part Number:	1 - 6.0000 Each Case Nu-Health California, I	Nu-Health California, llc	29.7600	4,760	141,657.60		
	Quoted as Spec'd: Yes		Product Number: NH4596PE					
	Response Item Payment Terms	: 30 Day Terms						
	Response Item Notes: Please n		vs: \$0.31 a unit \$29.76 a case					
	Item #: 1165 Peaches, Slices, Canned Manufacturer & Part Number:	1 - 6.0000 Each Case Del Monte Foods, Inc.	Del Monte Foods, Inc.	32.0700	4,760	152,653.20		
	Quoted as Spec'd: Yes		Product Number: 2001676					
5	ltem #: 1168 Pears, Slices, Canned <b>Manufacturer &amp; Part Number:</b>	1 - 6.0000 Each Case sunfield	Atlantic Beverage Company	19.9800	4,760	95,104.80		
	Quoted as Spec'd: Yes		Product Number: 703083					
	Item Notes: Total of 4760 cases							
	Item #: 1168 Pears, Slices, Canned <b>Manufacturer &amp; Part Number:</b>	1 - 6.0000 Each Case Our House - OHPR61	Robbins Sales Company	27.6800	4,760	131,756.80		
	Quoted as Spec'd: Yes		Product Number: OHPR610					
	Response Item Payment Terms	: Net 30 Days						
	Response Item Notes: Net 30 D	ays Product of USA						
	Item #: 1168 Pears, Slices, Canned Manufacturer & Part Number:	1 - 6.0000 Each Case OUR HOUSE	Churchfield Trading Company	28.5100	4,760	135,707.60		

Line Lot Number Code	Item Description Quoted as Spec'd: Yes	Purchase Unit	Vendor Product Number: OHPS610	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
	Item #: 1168 Pears, Slices, Canned Manufacturer & Part Number:	1 - 6.0000 Each Case Nu-Health California,	Nu-Health California, llc	29.7600	4,760	141,657.60			
	Quoted as Spec'd: Yes		Product Number: NH4596PR						
	Response Item Payment Terms	: 30 Day Term							
	Response Item Notes: Please n	ote that the cost is as follow	vs: \$0.31 a unit \$29.76 a case						
	Item #: 1168 Pears, Slices, Canned Manufacturer & Part Number:	1 - 6.0000 Each Case Del Monte Foods, Inc.	Del Monte Foods, Inc.	33.1700	4,760	157,889.20			
	Quoted as Spec'd: Yes		Product Number: 2002203						
6	Item #: 1170 Pineapple Chunks, Canned Manufacturer & Part Number:	1 - 6.0000 Each Case sunfield	Atlantic Beverage Company	19.9800	5,712	114,125.76			
	Quoted as Spec'd: Yes		Product Number: 703070						
	Item Notes: Total of 5712 cases								
	Item #: 1170 Pineapple Chunks, Canned Manufacturer & Part Number:	1 - 6.0000 Each Case Port Royal Premium -	Robbins Sales Company	20.5400	5,712	117,324.48			
	Quoted as Spec'd: Yes		Product Number: 19211-57710						
	Response Item Payment Terms	: Net 30 Days							
	Response Item Notes: Net 30 D	ays No Domestic pack Pine	eapple						
	Item #: 1170 Pineapple Chunks, Canned Manufacturer & Part Number:	1 - 6.0000 Each Case Del Monte Foods, Inc.	Del Monte Foods, Inc.	27.1600	5,712	155,137.92			
	Quoted as Spec'd: Yes	Der Monte i 0003, inc.	Product Number: 2001715						
	ltem #: 1170 Pineapple Chunks, Canned Manufacturer & Part Number:	1 - 6.0000 Each Case Nu-Health California, I	Nu-Health California, llc	27.8400	5,712	159,022.08			
	Quoted as Spec'd: Yes		Product Number: NH4596PP						

Ν

Line Lot Number Code	Item Description Response Item Payment Terms	Purchase Unit s: 30 Day Term	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	nding ward
	Response Item Notes: Please r	note that the cost is as follo	ws: \$0.29 a unit \$27.84 a case					
	ltem #: 1170 Pineapple Chunks, Canned <b>Manufacturer &amp; Part Number:</b>	1 - 6.0000 Each Case CELEBRITY	Churchfield Trading Company	29.3200	5,712	167,475.84		
	Quoted as Spec'd: Yes		Product Number: 775268					
	ltem #: 1170 Pineapple Chunks, Canned <b>Manufacturer &amp; Part Number:</b>	1 - 6.0000 Each Case Dole - 00468	Sysco Memphis, LLC.	29.6600	5,712	169,417.92		
	Quoted as Spec'd: Yes		Product Number: 4092334					
	Response Item Payment Terms							
	Response Item Notes: 10-14da	iys						
7	ltem #: 1183 Greens, Turnip <b>Manufacturer &amp; Part Number:</b>	1 - 6.0000 Each Case McCall	Churchfield Trading Company	23.0000	5,712	131,376.00		
	Quoted as Spec'd: Yes		Product Number: 5TGBBB					
	Item Notes: Total of 5712 cases	5.						
8	Item #: 1233 Tomato Paste Manufacturer & Part Number:	1 - 6.0000 Each Case chef john	Atlantic Beverage Company	22.2400	1,904	42,344.96		
	Quoted as Spec'd: Yes		Product Number: 56356-00665					
	Item Notes: Total of 1904 cases	5.						
	ltem #: 1233 Tomato Paste <b>Manufacturer &amp; Part Number:</b>	1 - 6.0000 Each Case Chef Johns - 56356-	Robbins Sales Company	22.7200	1,904	43,258.88		
	Quoted as Spec'd: Yes		Product Number: 56356-00665					
	Response Item Payment Terms	<b>s:</b> Net 30 Days						
	Response Item Notes: Product	of USA						
	Item #: 1233 Tomato Paste	1 - 6.0000 Each Case	Del Monte Foods, Inc.	23.5800	1,904	44,896.32		
			7					

Line Lot Number Code	Item Description Manufacturer & Part Number: Quoted as Spec'd: Yes	Purchase Unit Del Monte Foods, Inc	Vendor - 2001796 Product Number: 2001796	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
	Item #: 1233 Tomato Paste <b>Manufacturer &amp; Part Number:</b>	1 - 6.0000 Each Case Conagra Brands - 270	ConAgra Foods, Inc. 000-38837	31.9400	1,904	60,813.76			
	Quoted as Spec'd: Yes		Product Number: 27000-38837						
	Response Item Payment Terms	: Net 30 days.							
	Response Item Notes: 2500# m	inimum combined order pe	r temp class.						
9	Item #: 1234 Jalapeno Peppers, Sliced, Canned <b>Manufacturer &amp; Part Number:</b>	1 - 6.0000 Each Case sunfield	Atlantic Beverage Company	19.9400	400	7,976.00			
	Quoted as Spec'd: Yes		Product Number: 701970						
	Item Notes: Total of 400 cases.								
	Item #: 1234 Jalapeno Peppers, Sliced, Canned	1 - 6.0000 Each Case	Sysco Memphis, LLC.	33.5400	400	13,416.00			
	Manufacturer & Part Number:	Casa Solana/Bruce -	5882758						
	Quoted as Spec'd: Yes		Product Number: 5882758						
	Response Item Payment Terms	: 14days							
	Response Item Notes: 10-14da	ys							
	Item #: 1234 Jalapeno Peppers, Sliced, Canned	1 - 6.0000 Each Case	ConAgra Foods, Inc.	41.4400	400	16,576.00			
	Manufacturer & Part Number:	Conagra Brands - 270	000-52785						
	Quoted as Spec'd: Yes		Product Number: 27000-52785						
	Response Item Payment Terms	: Net 30 days.							
	Response Item Notes: 2500# m	iinimum combined order pe	r temp class.						
10	Item #: 1295 Cranberry Sauce, Jellied, Canned	1 - 6.0000 Each Case	Atlantic Beverage Company	28.8800	500	14,440.00			

Line Lot Number Code	Item Description Manufacturer & Part Number:	Purchase Unit clement	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
	Quoted as Spec'd: Yes		Product Number: 232079						
	Item Notes: Total of 500 cases.								
	Item #: 1295 Cranberry Sauce, Jellied, Canned <b>Manufacturer &amp; Part Number:</b>	1 - 6.0000 Each Case Oregon Trail	Churchfield Trading Company	30.9700	500	15,485.00			
	Quoted as Spec'd: Yes		Product Number: 61000						
	Response Item Payment Terms	: 12 % 10 net 30							
	Response Item Notes: Product i		15th 2018						
	Item #: 1295 Cranberry Sauce, Jellied, Canned	1 - 6.0000 Each Case	Sysco Memphis, LLC.	43.8600	500	21,930.00			
	Manufacturer & Part Number:	Sysco Imperial/Cleme	ent Pappas - 0100610SYSIMP						
	Quoted as Spec'd: Yes		Product Number: 5729967						
	Response Item Payment Terms	: 14days							
	Response Item Notes: 10-14day	/S							
11	Item #: 1305 Tomato Sauce Manufacturer & Part Number:	1 - 6.0000 Each Case Port Royal Premium -	Robbins Sales Company 463880	14.9800	3,808	57,043.84			
	Quoted as Spec'd: Yes		Product Number: 463880						
	Item Notes: Total of 3808 cases								
	Response Item Payment Terms	: Net 30 Days							
	Response Item Notes: Product of	of USA							
	Item #: 1305 Tomato Sauce <b>Manufacturer &amp; Part Number:</b>	1 - 6.0000 Each Case chef john	Atlantic Beverage Company	16.3800	3,808	62,375.04			
	Quoted as Spec'd: Yes		Product Number: 9122						
	Item #: 1305 Tomato Sauce	1 - 6.0000 Each Case	Del Monte Foods, Inc.	16.4500	3,808	62,641.60			

Line Lot Number Code	Item Description Manufacturer & Part Number:	Purchase Unit Del Monte Foods, Inc.		Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award			
	Quoted as Spec'd: Yes		Product Number: 2001663									
	Item #: 1305 Tomato Sauce	1 - 6.0000 Each Case	ConAgra Foods, Inc.	20.0000	3,808	76,160.00						
	Manufacturer & Part Number:	Conagra Brands - 270										
	Quoted as Spec'd: Yes		Product Number: 27000-39057									
	Response Item Payment Terms	: Net 30 days.										
	Response Item Notes: 2500# minimum combined order per temp class.											
12	Item #: 1443 Whole Kernel Corn, Canned Manufacturer & Part Number:	1 - 6.0000 Each Case sunfield	Atlantic Beverage Company	16.2800	5,712	92,991.36						
	Quoted as Spec'd: Yes		Product Number: 700080									
	Item Notes: Total of 5712 cases											
	ltem #: 1443 Whole Kernel Corn, Canned <b>Manufacturer &amp; Part Number:</b>	1 - 6.0000 Each Case Happy Chef/Allens - 7	Robbins Sales Company 0213	16.4400	5,712	93,905.28						
	Quoted as Spec'd: Yes		Product Number: 70213									
	Response Item Payment Terms: Net 30 Days											
	Response Item Notes: Product of	of USA										
	Item #: 1443 Whole Kernel Corn, Canned	1 - 6.0000 Each Case	Del Monte Foods, Inc.	17.7800	5,712	101,559.36						
	Manufacturer & Part Number:	Del Monte Foods, Inc.										
	Quoted as Spec'd: Yes		Product Number: 2004499									
	ltem #: 1443 Whole Kernel Corn, Canned <b>Manufacturer &amp; Part Number:</b>	1 - 6.0000 Each Case Lakeside Foods	Wm R Hill & Co Inc	19.9900	5,712	114,182.88						
	Quoted as Spec'd: Yes		Product Number: WKC									
	Response Item Payment Terms	: Net 30 days										
	Item #: 1443 Whole Kernel Corn, Canned	1 - 6.0000 Each Case	Churchfield Trading Company	22.6200	5,712	129,205.44						

Line Lot Number Code	Item Description Manufacturer & Part Number:	Purchase Unit McCall	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
	Quoted as Spec'd: Yes		Product Number: 5COBBB						
	Item #: 1443 Whole Kernel Corn, Canned Manufacturer & Part Number:	1 - 6.0000 Each Case Sysco Classic/Lakesi	Sysco Memphis, LLC. de - 15403	28.2600	5,712	161,421.12			
	Quoted as Spec'd: Yes		Product Number: 4107520						
	Response Item Payment Terms:	14days							
	Response Item Notes: 10-14day	S							
13	Item #: 1475 Sweet Potatoes, Canned Manufacturer & Part Number:	1 - 6.0000 Each Case sunfield	Atlantic Beverage Company	20.8400	3,808	79,358.72			
	Quoted as Spec'd: Yes		Product Number: 700136						
	Item Notes: Total of 3808 cases.								
	Item #: 1475 Sweet Potatoes, Canned <b>Manufacturer &amp; Part Number:</b>	1 - 6.0000 Each Case Allens Princella - 082	Robbins Sales Company	23.6800	3,808	90,173.44			
	Quoted as Spec'd: Yes		Product Number: 08213						
	Response Item Payment Terms	Net 30 Days							
	Response Item Notes: Product of	-							
	Item #: 1475 Sweet Potatoes, Canned Manufacturer & Part Number:	1 - 6.0000 Each Case Sysco Classic/DelMo	Sysco Memphis, LLC. nte - 4114625	27.3500	3,808	104,148.80			
	Quoted as Spec'd: Yes		Product Number: 4114625						
	Response Item Payment Terms	14days							
	Response Item Notes: 10-14day	S							
	Item #: 1475 Sweet Potatoes, Canned Manufacturer & Part Number:	1 - 6.0000 Each Case McCall	Churchfield Trading Company	30.8800	3,808	117,591.04			
	Quoted as Spec'd: Yes		Product Number: 5YCUTBBB						

Line Number	Lot Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
14	Code	Item #: 1491 Tomatoes, Diced, No Added Salt, Canned	1 - 6.0000 Each Case	Atlantic Beverage Company	15.0800	4,760	71,780.80	caunity	Total	Awaru
		Manufacturer & Part Number:	RED GOLD							
		Quoted as Spec'd: Yes		Product Number: VINBQ99						
		Item Notes: Total of 4760 cases.								
		Item #: 1491 Tomatoes, Diced, No Added Salt, Canned	1 - 6.0000 Each Case	ConAgra Foods, Inc.	20.6000	4,760	98,056.00			
		Manufacturer & Part Number:	Conagra Brands - 270	000-38067						
		Quoted as Spec'd: Yes		Product Number: 27000-38067						
		Response Item Payment Terms:	Net 30 days.							
		Response Item Notes: 2500# mi	nimum combined order pe	r temp class.						
		Item #: 1491 Tomatoes, Diced, No Added Salt, Canned	1 - 6.0000 Each Case	Sysco Memphis, LLC.	24.5800	4,760	117,000.80			
		Manufacturer & Part Number:	Angela Mia/Conagra -							
		Quoted as Spec'd: Yes		Product Number: 3896446						
		Response Item Payment Terms:	-							
		Response Item Notes: 10-14day	S							
15		Item #: 1569 Green Beans, Cut, Canned	1 - 6.0000 Each Case	Robbins Sales Company	16.3800	5,712	93,562.56			
		Manufacturer & Part Number:	Port Royal Premium -							
		Quoted as Spec'd: Yes		Product Number: 01316						
		Item Notes: Total of 5712 cases.								
		Response Item Payment Terms:	Net 30 Days							
		Response Item Notes: Product o	of USA							
		ltem #: 1569 Green Beans, Cut, Canned Manufacturer & Part Number:	1 - 6.0000 Each Case sunfield	Atlantic Beverage Company	16.8800	5,712	96,418.56			
		Quoted as Spec'd: Yes		Product Number: 700200						

Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price 18.5600	Response Quantity	Total Price 106,014.72	Pending Award Quantity	Pending Award Total	Pending Award
	Item #: 1569 Green Beans, Cut, Canned Manufacturer & Part Number:	1 - 6.0000 Each Case Hanover Foods	Wm R Hill & Co Inc	10.000	5,712	100,014.72			
	Quoted as Spec'd: Yes		Product Number: CBL						
	Response Item Payment Terms: Net 30 days								
	Item #: 1569 Green Beans, Cut, Canned	1 - 6.0000 Each Case	Del Monte Foods, Inc.	19.8400	5,712	113,326.08			
	Manufacturer & Part Number:	Del Monte Foods, Inc.							
	Quoted as Spec'd: Yes		Product Number: 2004501						
	ltem #: 1569 Green Beans, Cut, Canned <b>Manufacturer &amp; Part Number:</b>	1 - 6.0000 Each Case McCall	Churchfield Trading Company	21.5700	5,712	123,207.84			
	Quoted as Spec'd: Yes		Product Number: 5BNBBB						
	ltem #: 1569 Green Beans, Cut, Canned <b>Manufacturer &amp; Part Number:</b>	1 - 6.0000 Each Case Sysco reliance/Senec	Sysco Memphis, LLC. a - 00795	22.1400	5,712	126,463.68			
	Quoted as Spec'd: Yes		Product Number: 4062618						
	Response Item Payment Terms: 14days								
	Response Item Notes: 10-14days								
16	Item #: 1906 Beans, Black Taco Flavored Manufacturer & Part Number:	1 - 6.0000 Each Case Bush - 01585	Sysco Memphis, LLC.	35.8700	3,808	136,592.96			
	Quoted as Spec'd: Yes		Product Number: 3560127						
	Item Notes: Total of 3808 cases.								
	Response Item Payment Terms: 14days								
	Response Item Notes: 10-14days								